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QUESTION 1

Assume the bigd daemon fails on the active system. Which three are possible results? (Choose three.) 

A. The active system will restart the bigd daemon and continue in active mode. 

B. The active system will restart the tmm daemon and continue in active mode. 

C. The active system will reboot and the standby system will go into active mode. 

D. The active system will failover and the standby system will go into active mode. 

E. The active system will continue in active mode but gather member and node state information from the standby
system. 

Correct Answer: ACD 

 

QUESTION 2

Which three properties can be assigned to nodes? (Choose three.) 

A. ratio values 

B. priority values 

C. health monitors 

D. connection limits 

E. loadbalancing mode 

Correct Answer: ACD 

 

QUESTION 3

Which two can be a part of a virtual server\\'s definition? (Choose two.) 

A. rule(s) 

B. pool(s) 

C. monitor(s) 

D. node address(es) 

E. loadbalancing method(s) 

Correct Answer: AB 
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QUESTION 4

Which two statements are true about NATs? (Choose two.) 

A. NATs support UDP, TCP, and ICMP traffic. 

B. NATs can be configured with mirroring enabled or disabled. 

C. NATs provide a one-to-one mapping between IP addresses. 

D. NATs provide a many-to-one mapping between IP addresses. 

Correct Answer: AC 

 

QUESTION 5

Which is an advantage of terminating SSL communication at the BIGIP rather than the ultimate web server? 

A. Terminating SSL at the BIG-IP can eliminate SSL processing at the web servers. 

B. Terminating SSL at IP the eliminates BIG all unencrypted traffic from the internal network. 

C. Terminating SSL at the BIG-IP eliminates the need to purchase SSL certificates from a certificate authority. 

D. Terminating SSL at the BIG-IP eliminates the need to use SSL acceleration hardware anywhere in the network. 

Correct Answer: A 
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